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ooon

gbooboobboobboobooboobooboo1ooboobbon
gbobodgbbogboogooo.bggboooboobbuoobbodgboo
gbbodbbodgboooboobb.bbooboobboobbodobobo
gogbbobooogb.gobobobbooobbbboooo.ooobboao
ggboobogd.

Ubooob 020000 z,y000 z=2+0000000 OOOCO0O).
000001000000 20000000 (r,y)DODOOODOODOD.ODOO
googbg2gbogbooboodboobooboo.obo,boobon
gobogoboooboo,bogbobuooobooboboooboooboo
gogbbobuoooobood.

goboo,bbodgbbogbbogo,bbobbogbbooboboooboo
gbooboobo.boobooboobo@ouoobooboobbon), oo
gbo@o200000),bobooo,bobobobouobooobobobo.o
gboobgobooboobob n@wo)oobooboo.

goooogod
000000000 :000000000000,w=f(:)000000.200

0000 f(xp)O 00D, 00000wO0O00ODOOCOOOODODO.

»=z+iy0000, f()0200000 2,y000000. f()0000000
00000000 u(z,y),v(z,y) 0000,

w = f(r+iy) = u(z,y) +iv(z,y)
goooo.

ggoboboog,gbbobbooogobobuooooboobo.oobobogod
goboboobdobgoobo20b0booboobobo.00boboooo 20
O,w0O0O0O00OO0OD0O0D w00 OO0O.000000DO00O0DO0OO0O0 D,OD0O0
ooooog pooog.
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gob 000000 z,y00O000:0000 z2=24+000000.2,y0
0000 20O OO (real part), J O (imaginary part) J 0 O, x = Re(z),y = Im(z) O
uo.

() -i00oooooo.

2200000 =21+, 20 =22+ U U,0,00
2tz = (1 £ x2) +i(vh £y2), 2120 = (2122 — Y1y2) + i(T1y2 + T21),
00000.0000 2/ 000,000 z1,41,22,5: 000000,

B3 000 z=2z+y000000000OO00O0 z—wy0D 000000 (complex
conjugate) U O U,z000. 0000000000000 00OO0O0O.

(z1-2) =77, z/n=2a/Z (2#0).

4 000 z=zx+w0000 2|0 Va24+2000000.0000000 2
gobioi z,000,00000000000000.

G) 0UDUOn000O00 z,2,- -2 000,00000000000000.

|21+ 204+ -+ 2| < o] + |22+ -+ |20 (6.1)
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,t 000000. 00000000 e*0O

at o= (a)” o at (at)?

O0000000000000.0000=1000.000 e« 00000000
goboobod,

gobooo.

bbb oU0DD0ODOOO0O0OO0OODOOO0O0.

() 0000000
e = cosy +isiny (6.2)

ggboboooob.gobbydgbbbod.

2 000200000 2,22 000,e%e2=e2t>200000000 @O 00:
e 00000000000000000O0O0OON).
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U0 z=z+wy(x,y000)OOOUOOO, 000000000 OODOO (complex
plane) U OO O 100000000 0.0000

2z =r(cosf +isinf) = re” (6.3)

?

gooob.ooboo bbb gub.gubbboooobobbbuoo
O00.000r=|zl=v2?+9%4600 2000 (argument) D000, 0 =argz O
goodad.

() :0000000000000D0O,argz00000000080.

@ Uouodoooooogooo
i, —i, 1—i, 1+/3i
@) ooooooood
(cos B +isinf)" = cosnb + isinnb, (6.4)
goooooobobo.

4 =10000000,0000000000000.

G)0bobb0nn0b00 =1000000000000000000O00DO0
gooo.
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goboboobod d2,0booggoob a3)buoogoooooogobood
gooo.

(1) cos(f; + 6,) = cos By cos By F sin 0 sin Oy
(2) sin(f; £ 65) = cos b sin b, £ sin O cos b,
(3) cos26 = cos? 6 — sin? 6

(4) sin260 = 2sinf cosf
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